
=LPDB����

*UXSD�5R]NãDG���6'�/�����7\J������

3
Q

:
W

�������������7\J���������
�����������������

6.����6HPLQDULXP
NLHUXQNRZH��6.���
6HPLQDULXP�NLHUXQNRZH�
SURI�GU�KDE��5HJLHZLF]
$GDP� 0LFURVRIW
7($06��=DMĊFLD�RQ�OLQH�
6'�/�����6'�/���

:�W\J����]DMĊFLD�RQ�OLQH

ĤU
RG

D
&

]

�������������7\J������������

-Ċ]\N�REF\� 6'�&+�����6'�)�����6'�+�����6'�-�����6'�/�����6'�6]�����6'�6]0���

=DMĊFLD�IDNXOWDW\ZQH������JRG]��]DMĊü�]�Z\EUDQHJR�MĊ]\ND�REFHJR�Z�FLąJX�FDáHJR�F\NOX
NV]WDáFHQLD�Z�6]NROH�'RNWRUVNLHM�

������
�������7\J
���������
��

0B����
6HPLQDULX
P
GRNWRUDQFN
LH� GU�KDE�
)UąF]HN
%DUWRV]
SURI��8-'�
GU�KDE�
SURI�
QDG]Z�8-
'�$UWXU
ĩ\ZLRáHN�
'U�KDE�
6]F]ĊĞQLD
N
5DGRVáDZ�
SURI��8-'�
6'�&+����
6'�)����
6'�+����
6'�-����
6'�/����
6'�6]���

SL
ĈW

HN
6

R
1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


